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1 AmEEEOERKRICEAYT SHE
(1) #48 (Bfz - [)
& E = &
" &€ ¥ £ 2,997,232 & & 4, 000, 000
R 4 & 0 x % = 0
3 & LT 1,002,768 & & £ 0
& 4, 000, 000 &t 4, 000, 000
(Bfz - [)
X 2l £ £ i %
1 % # K = 1,316, 500
2 % O’ O (F+a-—7) 1,142,618
m 7 HWEFEEERES 1,122, 486
A 4 F E &£ A& 1,022, 900
: v B X B E % 1,002, 768
3 ZE5 B RE (1-—2) 173,882 — e =&t~ 1T
(2) A RIRSIRR (Bfz - [)
ARl AIFEEEEEE  ARAZEGEHEEIES) | XHEE (R AZEED) = 5 B 5
4 2,871,514 154, 600 40, 500 2,991, 614
5 179, 600 573, 400 2,997, 814
6 38, 800 0 2,636, 614
7 96, 000 0 2,132,614
8 97,700 0 2,830, 314
9 127, 800 409, 000 2,549,114
10 63, 100 0 2,612,214
11 99, 000 0 2,711, 214
12 133, 000 0 2,844,214
1 48,100 0 2,892, 314
2 136, 300 0 3,028, 614
3 142, 500 0 3,171,114
& 2,871,514 1, 316, 500 1,022, 900 3,171,114




@) IRAZEDEEAINER

(B6L - [

= & A £ = & A il £
— i = i 986,900 ZAREBEHRRN=E 1,500
- = =1 4,2000 ~ 8 E # % Bl = &t 23, 500
B fa % & 277,800 4+ % &R KR % Bl = & 125, 000
R & #B 311,000| &AEEMEHEELHAISH 0
o fa 4 & 189,700 #HAmEmEEREFAIRE 0
b7 & & 1,500 KBEAFXEFERIRE 0
B ommkzza 76,500 Kk & B % & & 15, 000
o W I & of F k& % % & i 6, 000
+ N & 84,700 & k& FT % = &t 900
" H il =1 50000 tEEFREHHESE 0
RO B & 36,500 FEMEZAIITHREHBMES 500
KXKEERBE of £ o 1 o = § 115, 600
EREERRKREN S 31,000
FREBE VI —HRIRE 9, 000 a & 1,316, 500
2 THEARESOBAKRICHT HHE
(1) EEZ98E4ES (FR29%4 A1 BEH%) 1, 022, 878, 957H
rE £ 520, 169, 300H
N &R
L+ b (43,066.83m) 502, 709, 657H
(2) FEHRDOERRKR
T HoER{G (4, 738.96m) 35, 515, 209H
THh5EH (2, 235.91m) 41, 364, 336H
Q) FETOELEBES 0
(4) FEREEHES 1, 022, 878, 957H
r &’ 526, 018, 427H
N &R
L+ b (45,569.88m) 496, 860, 530H



